BURT-L(77/9~N=2)

o

&
v

(752 THKHE) (cap

B GH—12130—A
(MEZ§ -} $5400

BxE®E | 125005+ BERERE (26~-7)
#WEH(N) |2270

SA AR | GH—FC—56212

SEfAE SR | NBRI L

F—-LERAE | 100°

F—L uE!

A= TITN—2

BE5F L) N L

W& (g) 900

WUEO /S 7-L5147
(759~ =2)

G
v

(95713 (cap E=R

X GH—12132—A
[MEZ§ -] 55400

BEEAE | 1-/005+ L BERENE EEA-1)
®EA(N) 2270

S AR | GH—FC—56212
SEBlAIAHE | NBRI L

F—-LHRAAE (100

F—i BT84 7

N=2 FITN—R

#5F SN

HE(g) 900

GH—12130—A

4—p7.2 1/BNPT -5 R7E30

GH—12132—A

4—¢p7.2 1/8 NPT 1) -4P97E30

|’ _7
¥
Bt
A ¥ =
E i :”’ fﬁz;ﬂ\ %
2 S /s g =
3 & ea_&":{__q_‘ =
i -
' o,
7065 | 51.5
| 243.2 i
EiEE LS L GH—80379 BUR7—L (75 9~—2) (B GH—12265—A
(ME2R -1 $5400 (ME§°3 $S400
I - Bx@EfnE |2=7040% BEREAE | 1o/005+ ) BERENE(284-1)
= #WEAN)  [3400 @EH(N)  [3400
' FeiE AL PR | GH—FC—38312
’( - ,_;? Sl AR | GH—SA—12212 SEFVIE NBRIL
F—LBAEAME |47° .
NRVBEBRE [90° FLmRAR 66
F=LBIEK | JIFE1T F=b ug!
. e ~—2Z ISLUN—2R
= S
i = BEF AN
(77> T HE) (cad BN (g a) 500 (775 TRE) (cad ED) g () L1700
GH—80379 g GH—12265—A
)
3
e El
=)
(121.2)
7138
1
p )
o
s ilp
- SR {18
~ o 648
™ i
186

) ERPOHEEA-—HEEBTT.

82



